1. Question: AT TF Jel P (F?

A) FRTAN 5154
B) IfFTo4 SEIPMENT
C) G2fer ™ (&4t
D) 399674 fAwTsrsrE

Answer: A) G 5177

Explanation: IR ST S HT64 [T |

2. Question: "NANHS' SAAHT (TAF (F?

A) ST JISTO

B) OIS IEANENT
C) 3574 GG
D) & 64 GEIENT

Answer: A) ST IR JT5T61

Explanation: fRATe@ F98@ SoQRSIN TN fREIRE RRAT SR IFT64 bEIMETER Jfte
TSI AT (S BBR) |

3. Question: 'A@E" FFeT @FH FIT ATf?

A) (TETAB AT
B) g It
C) sTiaTar
D) Sfaten

Answer: B) fa@g It
Explanation: F8 T8 25 Afbe @Rl FEASID BIF TXT FITE AT J@sfe |

4. Question: SIFTATET SN SHRET (F1 HI?

A) 2% IS
B) H=FY I=39
C) ST T
D) SHIsewate



Answer: A) 3% It

Explanation: T3 SfATe B, STl Suald ANz IRATE TG oF PO Aifere o2 o5t
o I - ol sHow ST & Wﬁﬁqﬁgm—@wmwmqwm

5. Question: 'TRIFIE@'T ATHIT 7a FIE ST I (TAT?

A) TSt (ST
B) F1w T (7t
C) erferat (wat
D) 2f~ar (wat

Answer: A) (@3t (73t

Explanation: 9%51 S84 8 JI0H a3 AT F(T AfoeTe 33 ©fF Tgal A& (T (<7 =1,
e e 8 @ A s 2|

6. Question: NRE T WG ‘AT FIT' (FIF 4T FIIT?

A) TRFY
B) &6

C) Moy
D) aF1=s

Answer: A) IRF1Y

Explanation: S1&fJ, AGIFIE, IRASE H@06 FI6F, ARG R FI6F NP TYHI 78 97
S BR8N Y€ SN TCTH (ST FCNOTF A S NG S, 97 ST J107 |

7. Question: AFSEF "(ORSHT' (P Y@ FI]7?

A) SrerSIEAT
B) ST
C) S
D) FfeF1=3

Answer: D) TfeF1ay

Explanation: SIFTIST (314, bbo09->bpo) NI TRAT AMR0eTH AN (T Ff| - TS HLAJEIT
SHMEF SFAEST| ©IF (b FIRTHRT TS |



8. Question: "TIHIF" =6 (FT ST (WF IRAT ST ATNR?

A) HIfsf
B) S
C) g
D) gf

Answer: B) a3

Explanation: SoJ3' *<if6 ©f% ©FT (@ IR ST AT

9. Question: TNHIG % "AFAG' (FT THIF SHRIT?

INEEEIIE
B) Sy

C) sy

D) SIRTAe

Answer: B) FHEY

Explanation: S&=% SIGIRT fosfsy S I SI@E o ST AF ©F O AN TS
T

10. Question: ICTF GTI4 FIF RAAT?

A) T T 3

B) &1 SISy 2%

C) I 5w a2

D) ST AT 739

Answer: A) (T35 TR 3%

Explanation: 33, J3f%%, STESF, TREI-TNEES NG N 5TI0 980 NEH © A6 A6
IO SETT ATSTAT ST FEA| - fofeT FUT S ACTF W AT (2@ |
11. Question: H-FEG == "TFF (FH 4T@F V07 18162

A) 55T Jf
B) TRl



C) fas1sf sif
D) fersmet 5

Answer: C) fassf sfa

Explanation: BCS_7.PNG

12. Question: 'AMS' HF TNNF T 77 (FH6?
A) s

B) S1qat

C) fi¥fs

D) dF

Answer: A) 78t

Explanation: aIf%fs [@1fafs] (o) (Fifer)

13. Question: "TRTSE NSRS ATT© A3 AIME A1 F1?
A) T%T

B) FTIEM @Y

C) Tieg w4t

D) 3% A9

Answer: B) ST wIs

Explanation: &Sl SRSTAS' AI® S I A1 F91749 A |

14. Question: 'IoeNE AN T (T TN F1?

A) foeTaT 2IeT
B) (Sfera (RIGTeT
C) faf&ar gz
D) F1f&aT A

Answer: A) f9eTET 2107

Explanation: ST AT S 3776 G frafmyierey 28w et oranrse FarTs Mzwes mies
©IF SN BT =T | - TMRSTHCf ©IF AT BF @R S>¢ NI - I NGT ST 72 ‘Foeed
ST |



15. Question: Quarterly =g a1xf $1?

A) STIETRSF

B) %<

C) I f=

D) e

Answer: C) I (Monthly)

Explanation: quarterly [$@G1*1] (adjective), (adverb) f&a 3T 5=/ G 37, (aaNfi: quarterly
payments. o (noun) @NF SfGFTI TS IRAT TSN ATSHT|

16. Question: HEI @ IFE0 SF?

A) TRt
B) faraifer
C) fafxaat
D) frifRat
Answer: B) fortaat

Explanation: friiR&T [faffafa] (Romm) 71fa; 7 54t (747 = [yF 2= xSt AiRat-aiman
STFA) | {(@S AT ) fAT+3ARA)+R(E)} TIH: IRAT PO A |

17. Question: 3t =g 1 F?

A) Fqed
B) (Frfe
C) AT

D) ;=
Answer: A) ¥9ed

Explanation: s, a3 : Frdl(-faa) - 537, - s S 313 (57 @2 TP Fridl-aE
TN 76) | S TR TG ANSHTH |

18. Question: YIX(®} TEAFF YT F© IFF?

A) b



B) ¢
C)8
D) 3

Answer: B) ¢

Explanation: FI@ T 3T3 NTUITnTREAT FAE G I (INT (P AT FEA, Ol
STETH JET| - WIRCSY ATHFF FHS 42 TFTF | IV THEFE 93 TR | TN: IRAT SR 8 ARy
&, ©. CTifa Crad|

19. Question: STE 5 &1, 5 1, ATF........5 @ TSI (F?

A) SHF Gt

B) T IERWIF
C) wraf I %
D) TR SN il

Answer: B) 187 J5pRH

Explanation: (eiFsi5ite A, MfSF1a, STAFTE TR ARG FEAEE ST S5 ST JAs18 (Selrd 712
S SR ST |

20. Question: ST SMXIY TAHH [ T (FTAG?

A) 5939
B) b2
C) X000
D) 233

Answer: C) Xooo0

Explanation: 13w, fba1famw, (3@ 932 MY IRAT NR(STT Ao SIEIF AT TN 5
SD3Y TEF b (HFINE T SFTF FHIT SAS oFvS! ST |

21. Question: In each of the following questions, out of the given alternative, choose the
one that best expresses the meaning of the given word : Sporadic-

A) Consistent
B) Uniform
C) Frequent
D) Scattered



Answer: D) Scattered

Explanation: Sporadic [*Tanf&%] (adjective)

22. Question: Omnipotent-

A) Feeble

B) Vulnerable
C) Impotent
D) Supreme

Answer: D) Supreme

Explanation: Omnipotent (adjective) - SE4f&| Supreme (adjective) - TIIH; NETE; I,
MARF | Useful (adjective) - TaFI; F15F; TIF1R; Resa; T, T@HAT

23. Question: In each of the following questions, choose the word opposite in meaning
of the given word: Repeal-

A) Abolish
B) Nullify
C) Annul
D) Enact

Answer: D) Enact

Explanation: Repeal (Verb) English Meaning: revoke or annul (a law or act of parliament).
Bangla Meaning: Ffed F4AT; TIREF FA1 Synonym: revoke, rescind, cancel, reverse, abrogate,
annul, nullify, declare null and void, Antonym: introduce, enact, ratify Example Sentence: The
legislation was repealed five months later. Source: Oxford Dictionary

24. Question: Antonym of Equity is -
A) Uprightness

B) Justice

C) Integrity

D) Bias

Answer: D) Bias



Explanation: Equity: SXTE¥e]| Bias: *%Te; A0 udeeT, F99eTl So, Equity is an antonym
of Bias. Source: Bangla Academy Dictionary

25. Question: In each of the following questions, out of the four alternatives, choose the
one which can be substituted for the given words/sentence : A formal composition or
speech expressing high praise of somebody-

A) elegy

B) exaggeration
C) caricature
D) eulogy

Answer: D) eulogy

Explanation: Eulogy [28#1f3] (noun) English Meaning: A speech or piece of writing containing
great praise, especially for someone who has recently died.

26. Question: The word 'Shrug’ indicating doubt or indifference is associated with-

A) eyebrows
B) head

C) forehead
D) shoulders

Answer: D) shoulders

Explanation: Shrug (verb-transitive) English Meaning: raise (one's shoulders) slightly and
momentarily to express doubt, ignorance, or indifference

27. Question: Fill in the blanks in the following sentence by selecting the most
appropriate alternative : He is quite in dealing with people.

A) unsubtle
B) imprudent
C) impolite
D) diplomatic

Answer: D) diplomatic

Explanation: Diplomatic (adjective): English Meaning: of or concerning diplomacy. Bangla
Meaning; (S)W: diplomatic service; diplomatic relations between Bangladesh and other



countries. (}) 31; FoATePITS; 5@F: a diplomatic answer. Diplomatically (adverb):
§Gtﬂ ©w9$oI[| Here, 'Diplomatic' is an appropriate word to fill in the blank

28. Question: They suffered much tornado had hit their village.

A) untill

B) let alone
C)asif

D) since

Answer: D) since

Explanation: IFHF 31X ST A@F $8 (SIS FEMRCE (IERQ ST (W07 HEA(ST SAETS IFETRET|
w97, 3 since R T 2T |

29. Question: One of the four sentences, given below is grammatically wrong. Choose
the wrong sentence:

A) Mother bought me an icecream.

B) They parted from one another suddenly.
C) The leader expressed himself forcibly.
D) The land is belonged to an old lady.

Answer: D) The land is belonged to an old lady.

Explanation: A3« S**« 'F' (19, is belonged a9 3T belongs 7 belonged X1 $194 belong a5
passive J 97|

30. Question: One of the four sentences, given below is grammatically wrong. Choose
the wrong sentence :

A) He was always arguing with his brother.
B) Who was the boy you were all laughing at?
C) When will you write to him about your plan?
D) His failure resulted for lack of attention.

Answer: D) His failure resulted for lack of attention.
Explanation: Result (verb intransitive): () result (from) @17 *IfFafe e FAT; T ISTTI ()

result in (G A4T; (3@ 28AT: The present relation between the two countries will result in
war.



31. Question: Choose the correct spelt word :
A) Volantory
B) Volantary
C) Voluntory
D) Voluntary

Answer: D) Voluntary

Explanation: Voluntary is the correctly spelt word. Voluntary (adjective)

32. Question: Choose the correct spelt word :
A) Accilerate

B) Accilarate

C) Accelerrate

D) Accelerate

Answer: D) Accelerate

Explanation: Accelerate' is the correctly spelt word. Accelerate (Verb)

33. Question: Choose the correct spelt word :

A) Sunamee
B) Sunami
C) suname
D) Tsunami

Answer: D) Tsunami
Explanation: Here the correct spelling word is - Tsunami The word "Tsunami" means a long,

high sea wave caused by an earthquake or other disturbance. Example: The loss of human
lives from this latest tsunami is staggering.

34. Question: Of the four alternatives, find the one that best fits into the blank space :
While living in poverty, the poet had to a great deal of sufferings.

A) see through



B) fall back

C) pass by

D) put up with

Answer: D) put up with

Explanation: Put up with (Phrase)

35. Question: Wordsworth introduced the readers a new kind of poetry.

A) with
B) at
C) by
D) to

Answer: D) to

Explanation: Introduce into/to (%) S3«/=6fere/b1] FT; (FISE F8a o) Hfaftw FaT:
introduce new methods in agriculture; introduce somebody to the mysteries of modern physics.

36. Question: his earlier study, the Professor's new study indicates a general
warning trend in global weather.

A) In contrast of
B) In contrast as
C) In contrast by
D) in contrast to

Answer: D) in contrast to

Explanation: In contrast to It is used when you are comparing two things or people and saying
that the second one is very different from the first. Example Sentence: In contrast to his
predecessor, Bush has little appetite for foreign travel.

37. Question: Only those who are not serious to their success work by and starts.

A) long odds
B) against time
C) every inch
D) fits



Answer: C) every inch

Explanation: By/In fits and start (Phrase) Meaning: With irregular bursts of activity. Bangla
meaning: (@ (V@; Afa3f¥eerd| Example Sentence: The economy was recovering in fits and
starts. Source: Oxford Dictionary & Bangla Academy Dictionary

38. Question: Of the four alternatives given below, choose the word/words that best fits
into the underlined word given in the sentence : 'One day women will have what has so
long been denied them - leisure, money and room to themselves'.

A) Space
B) Capacity
C) Office
D) Liberty

Answer: D) Liberty

Explanation: Leisure (Noun) English Meaning: time when one is not working or occupied; free
time

39. Question: Choose the word/words that best fits into the underlined word given in the
sentence: Crafty men condemn studies, simple men admire them and wise men use
them.

A) Acclaim

B) Laud

C) Compliment
D) Denounce

Answer: D) Denounce

Explanation: Condemn (verb transitive): (71¥ (W83T; {71 a7, (@11 3% F1ee I1 FIRIET AT
JT (N F4T1I Denounce (verb transitive): (FIS) ST AeJe F47; (FE]) [T
STAIAR ST I AN B I (M3TT; IS W3T; (FFICT) 919w F4T; to denounce a sacrilege;
to denounce somebody as a traitor. Source: Bangla Academy Dictionary

40. Question: The following idiom is followed by some alternatives, choose the one that
best expresses its meaning. To end in smoke-

A) To create fire
B) To go through suffering



C) To see fire
D) To come to nothing

Answer: D) To come to nothing

Explanation: - The meaning of "To end in smoke' is "To come to nothing', 'to be destroyed or

ruined'. - To end in smoke a7 IAT 31 S 7 IO *AIN© 28T

41. Question: FFTSHR-B- FEHCEIET BT AA-TNHT TY(G@ 71 =3~

A) 3-(373
B) 3G1ES

C) (Bl fro @ e

D) 3BEE0

Answer: D) 3G1SE0

Explanation: - (BTSS! SYf& @ TINT FE FEATOHI (WF FRATHIT O SIIA-T71 FATT
W@ 3GEE0 I 27| - W FHoIHT WFT b > T Advance Research Projects Agency
Network (ARPANET) 51 $& | - SNGIF TS F51OE1F a1l fSabe (7 @ RHRE0A s Fel1
ER

42. Question: IRIACTE (NFMHF SYEF (F1NT IAI(F0?

A) TN
B) TRIGTA
C) GIF1

D) TS

Answer: C) GI1

Explanation: (TSI (T STGEE SIS GIFT (3 38 fFETRGH G o1afFe aammersia (S
CTRTRSIT SASTH SIS0 |

43. Question: SETET TARAT RF@ FCNG S8 AGIT T2 [ @ IR I
P97

A) &

B) &

C) aF1w

D) a@m T 36 e F91 T@®



Answer: D) a@m™

Explanation: 736 Jifee $a7 2@®

44. Question: GIF] fRAWET 3@ oo 23?

A) SHvv
B) va3¢
C) 53
D) 5335

Answer: B) $33¢

Explanation: - G131 fRaiRmey aRamerd Mblaes, ¥4378 932 STNRG0TR SAefros T1ote Mozsangt
THRFT 8 TR eS|

45. Question: IRTCTT IS F© TeEaw AT TRATTT I FH FOE SIfde 772

A) Seo
B) s
C) 389
D) seq

Answer: B) bob

Explanation: - IR0TE ST 092 SNej(eay S ST I3 Fre AfoST F11 271 -
SOB(R) TR IR I FRACTT TIFI T FHPIAH TSRS 8 AT STy Tt (R8I 2| - 339
T SR A AR AR TIFS 3 g T (@t (w7 23

46. Question: (F IRTF HIT ST BF FEA?

A) TR T

B) 2ferxm g

C) f&7 7=

D) SI$g

Answer: B) 2fefT g

Explanation: 3f¥ F1& SR (57T A AFIF S¢ 8 FETF So/Ss b FRAT A@H S76w FE
T2 BT $EQY NEF ¢ ST Ol FRINE AERET FHY e FHFT 3| ST 579 5 8 IR T



N (S @ IRA T 73S 27| a6 =AW HH N AT AH B (T8 Ta7ette aft 357 T
EIE) IE\%’{III

47. Question: SEIRT IRTAECTE (F1H JAPTEH (FTFNHG?

A) BB

B) reTIG

C) ST

D) SIRIIESTH

Answer: B) F1emG

Explanation: - ‘SIS (THWHIeR T3 13 STAted FTvR (Sl R SIST| (PTeTeIT 7a Aerne!
SPETH SRR (SR AT STwiF SET SN CNEF TF SO |
48. Question: IRATWCT FIH STSTSIT TGO IN=?

A)e o

B)c«fo

C)sfe

D)v fo

Answer: C) 8 f&

Explanation: IO §:$f& R¥TF NFe@ T8I (16 aft (TG - viB) THomey kgfes @
7 Ao TA®|

49. Question: (FTH LIFT (VF YT 799 PO ?

A) b9 .1,

B) @3> fF.fi.

C) woq fF.fi.

D) 85z f&.f.

Answer: A) b9 fF.f.

Explanation: SN (FT=Y GIFT (¥ YA GHT 1T 853 fFERNCIF1 T3 (g (7 ;TS T59
IR 20 (FT BT (FF YA G99 F 0% FENRCE

50. Question: fFAFRE® @ (T (IF IRT@T FONE NG (@ TRET TI?



A) TS IS8
B) Sffar
C) wfSpef (FIAT
D) S

Answer: A) N J&A1Z

Explanation: - IR JT TS STRIFTATST (W 2T SN | S (@ AT SO @
(A SF TR | - SR 7T JSAZ 3 FIATCT THF NRIBFIA! (W1 - T IAMFF SRS
IBEEINGT

51. Question: FRATT (F FT (A NRATHT IRA© FIS FAR?
A) 539

B) sab¢

C) v»a¢

D) vk

Answer: C) $39¢

Explanation: - IRAGCE 77T ARAT SFORES NRETHT ARAT© S>bY FE FIT IR FEA| -
JRA@T T FYN SGRET (T NETHT e Iz +15r2er FEa ©1F a1 UNIIMOG (United Nations
Iran-Iraq Military Observer Group)| - IS SFSTRE RIS ST &1 (T T (T IR |
T3z SIfoRET SHINRD |

52. Question: XOF 2@ (W7 (FAG?

A) 33T

B) ST

C) 2eare A

D) faeis

Answer: C) AT

Explanation: XIS 2W& (77 - ReleIS | RATIER (T — ST 0 ST (0T - REATE AT S51sfer
ST (7 — FTATST| (a: ATTREIET fF51faT)

53. Question: & (@1 (TG BT A1CT =fHfbe feei?

A) JTETEPET



B) R
C) NAENF
D) YRS

Answer: B) 3T

Explanation: ¥RTIS — BT ©RETTT — SIS PR — IR SEINGIT — F0T (e
LRI EE BRI NERIEE))

54. Question: XETE'R I a1 5?2

A) AT
B) (ATCSAT

C) f&qfe
D) SeTsTanat

Answer: B) (ATGHIT

Explanation: - [ 95 5 7 SeS@(H | - i@, A 75 A1 o @S| - FaqgEa F
N1 AfEper (RS S REe S

55. Question: ¥ HA™ [F87 T:=ow 27?

A) Sboo
B) 595
C) $92¢
D) $9%»

Answer: B) 539%

Explanation: - %11 AR MEET 1T 7 o TG - $8 TFTR, Sab> ST S 87 4ow
2| - @CNERE @S S [REET ATz e | - o], STeT 3 ew Ha (8@ [
IS | T332 INTRE@ TSI 9 fHBifa|

56. Question: Fe AHT (FF (0T YR FEN?

A) ST
B) B

C) AT
D) Ia™



Answer: A) SIfer

Explanation: - F1ef M3 L% ST ¢ (F ST IR9 T FE STHLZT FEA | - ©1F A6
SITET W T FASAH (NAWICT, T FBR SAEF T | - N S1F CRIAT M (T FoImE
QT HES B THAW A AFHTO| - Swro NEF 383 Wb fof To@ JE I | (S3wya: fFoifs)

57. Question: JASHSNAIET ¥ IR (F =2

A) w18 Y
HESERIN
C) 1w M2
D) &f28 12

Answer: B) T8Ig@®R

Explanation: - J2PW SR MR (el SIS T IR - b»0e (@ e BRI 936
AR FTeTRTe 28T INsT G 517 w1 Sl MNa FEEA| - T (4@ @ AF 77 2003 AR
O SR o1 S JwTe FAT 2T | - @i o175 fofey 93 T 41 FEfRET | TS: fFoiferrI

58. Question: T Rl AF TLTAH @1 (77 Ffo ui FE?

A) 31
B) 291
C) Clifw =g
D) SIS

Answer: C) CTifw s1@9

Explanation: - T fRT 918 @171 F971 37 5¢ A©FTF > A - THT Ha@ Fghe
TSI TN (7T AR - AT sfomEma @w T T 916 FE 3D qOF, 053
B GIROS R GIEEREEGERIGERIRT

59. Question: "R ST FCEIT (F1H Y6 TG SA@I6! (7T oz F@?
A) 3IERT 8 HE

B) wizFel (IR 3 T (I

C) B9 3 TReIA

D) 51w 38 eI

Answer: B) ufSel (F1fH37 8 Tad (FIEJT



Explanation: - 3 9[3 ST : ©1F© 3 THFI - MR AT AFHIE FEET : ©1F© 3 Bl - N7
TR : JH A 3 (T - QS TR : MNHI 3 IS | (S[a: f&oifersn)

60. Question: T AEEFEF (F1F (70T F (NN (732

A) FenfEET

B) fa s
C) a9 Yefemg
D) (FFoIE=T

Answer: C) a9 SFT®vd

Explanation: (FFGIEFT (WA A (1 (T@Rat (@21 (Ffod 573 foarrerd wifls fod sJferT
R THF I | $28 TET 2% I (P68 | J5-FIRE Hf6 8 SATRSE Yo ST (TR
RIST TG I (TN1F | S (FF2 (P60 (FIEAT TARIRAT STG 3B | @ FRaw Jfsfue sfaz

61. Question: (I STITHT G ST T AWAPI (T (FTAG?

A) SICEferT
B) FATGT

C)y®q1g
D) St =1ft aifee a1 T@m™

Answer: D) 8%

Explanation: =6 1feT Fa1 @™

62. Question: @G -2 (Semi-conductor) FI?

A) sToferT
B) fifersar
C) SeAferaTT
GIE

Answer: D) (eT1R1

Explanation: - SN2 35 26 O 3§ IF IHIRFY I3 (6@ @ 5 afaa@s e
| - ffera, ST, STfeRm, SRS, FCHAR TSRS Toie 3§ NeAT6d FRIR F01
FI70 | - (FIRT 936 4Tg I s ARt




63. Question: JRTNGEICE (F@ (FTAG NOF?

A) BF AT ST AF

B) fASE 2257 ST A&

C) (NG 3 fASE SR2FT ST A
D) (A6 ST AT AP

Answer: C) (67 8 fASE ST ST A& (C)

Explanation: - (I N3 SAF NN AT 9018 (AG 2245 N [F& &7 =47 o O
TG ARG I4T 7T

64. Question: ®IRt "M (Heavy water) 47 &6 3% -

A) 2H202
B) H20
C) HD202
D) D20

Answer: D) D20 (f& 2 8)

Explanation: ST "Nf¥ 2% TRSGTOET ARG fEGRAR (A@F ST 97 IS 1 T0%--
fOGEI IFRT 4T R@Fe-- D20 | Heavy water(D20), has a molecular weight of about 20,
whereas ordinary water has a molecular weight of about 18. Source: britannica.com

65. Question: SR fAfFIT TG-

A) BfGS HATeIF G T JeFS ST
B) 2T 17

C) RESH SAwT- T

D) 3% I

Answer: C) 3% SlvIe-9Te

Explanation: S7a9 fIfFFT IEFEET 69 T A3 TR 929 | (T [FTF 308 920 FEF
BIF SIEF (Oxidant) 93 (¥ TS 3EFET 99 FF ©IF [F99F (Reductant) IET| STF AAE
e FF Ak 4 o 23, [0 aa@ [ofEe @ 93 0 sfFe 231

66. Question: Elljgtxsﬁ CHOd (O (V& fTFed (OFs T8I -

A) STSRIGIES SRS



B) G- FETHAET SRS
C) ATTIGIERS RIS
D) CGT-TTod ESTHAIET SRS

Answer: B) CoT-3IT %@ STIRIE (B) Step-up transformer

Explanation: (¥ 55519 943 [Fo@d g Sfosaar@ o Re@s afgs ofs R 9 efEe 3E@
OIG ST T G5 IO ST 0TI SIS, CE-G16 ST IEa STTRIE; (e SHed (ST
(A fTTeT (OF6 MSTT T B35 w1 w1 fFeiy @, aFTw -7 f|

67. Question: F15 8 JEF 9FF IV -

A) faSow 8 fRieE

B) TSI 8 fHerasy
C) 8316 8 MET

D) ST 8 GRS

Answer: B) =S 3 fFETS

Explanation: S| &t FIEH 453 37| S| Taiete IETF 953 56| C.G.S Tafere I¢TF 955
IR |

68. Question: ST fA913 &HFF -

A) TR fRys, AfR1RT S a6

B) G (3 &1 SE¥ 7T

C) (IR (s fAgys (1 tofd 2

D) (T ITAT SAFI/ T TS 51 NFe 26T

Answer: D) (N IR STF/ITHFAT FET 5TF NPS 3T

Explanation: (NS 312 N 8 8% FF A& 51T NPT 2 Fro17F JAT3F 6@ AT el (TEF
(GO I % 27 (I ANAT I8 SHFIE] I |

69. Question: (&1 fdf&%T KT (Inert gas) G0 2EFE (F3?

A) &S

B) fermey

C) 3l
D) faferamsy



Answer: B) fa3e

Explanation: ff&x sz R (He), 33 (Ne), 35 (Ar), fFba (Kr), 5 (Xe), (G (Rn) 8
SSTES (Og) | 977 S (NETF S f{AHI FE o1 IE A Afoone A7 H21 A7 Noble ST I
AFT R RGT 9o FF [AfET CNETd (Fovel IE b 6 2EaE o |

70. Question: AfFEEIR Jete JINI-
A) (FTEE 51T

B) 35T 51

C) snfasrerey famyy

D) GIRe 1%

Answer: C) TTf=ers fawyy

Explanation: GTI%d 51 — AfSFET61E, (@ ((NF1E) 5 — (THFEEE , W35 517 — ISP eng,
MR 57 — afSFeF|

71. Question: 35T 3Tk (Big Bang) ©¥F [ ©F T ST FER -

A) 993 IR
B) f& (FeieE

C) SIST STFTSY
D) o 2f:
Answer: D) o 2

Explanation: 321137 236 fA=yre feuet; 2818 9% 21 fACHIAwE My 9% w=fAeea Y8 =27 951 st T
ST AT AFTT | - 5T IR BT TTST & B (529 ) | TG ([N [ [Farat |

72. Question: IIHSE (T IH (IO 05 AfoH{To 2I-

A) TIPSR
B) Fronfeag
C) 3O 3

D) SIAHIE

Answer: C) 38« I

Explanation: BTSSR ARfe 91 SIS (lonosphere) AT HH6S | AIFHTT JeT©



TOTHSER SRR (VF SIS fTTRT (¢o (@ Soo [FENNGE) G oo | AIANSE (FOTH
©e51 AfoHiTe I ©-J® e AT

73. Question: IHFT HRIF (Optical fibre) (-

A) TS ZT5% Fow e

B) 4T TS AR ©TH ©IF ©F oA

C) ¥ = ANECEN BRI T

D) 3T & 93 AN FT6 ©FF A oA

Answer: B) 33 S SRR ONF ©FF ©F el
Explanation: - SITGFTT SRATE (% YT TF AT T 16 0F | - A I2@F #1051 a6 T1979 23|

- ST TJof STl ANSWeTel 3 T AT AACFIIT FIRIF tofd Fa1 7T | T3 TrfFwIe,
FH-TT (fer |

74. Question: ST GIfEAR foyefTF T -

A) GGG
B) =11

C) fseams
D) (FTNGE

Answer: B) ¥ (Compass)

Explanation: (TG - STE@s QIfEE @ I 7 SFHONT 5oy Af=7 S I

75. Question: 3T (SNHEF FIF, T¥A-

A) X 8 b0 RS SET ST A5 FE

B) 574 JRAIT TIEE FN(= AT &

C) RS YT TICF F@ I

D) X, 574 3 SRS TATHE 9F TTNENT AT F&

Answer: A) X 3 4 RS G TN A3 FE
Explanation: ST SIS (STATH ©© (SEIE 3 911 ©F 517 8 57 So@s SFH (A (AT Sefd o9

27| SR A3 i fofite v, X a3 RET 932 FRAOEAF AT FACE NIFEH ANFA T65
(SRS S8 2T | TYN: FTIA-TI (AT ST (JR6 32|




76. Question: (FIECHIT AF YF(@

A) afIET afsS

B) &7 afsTg

C) stfera

D) =& AR

Answer: A) afSi@T afTe

Explanation: - Cholesterol is a sterol (a combination steroid and alcohol) and a lipid found in
the cell membranes of all body tissues and transported in the blood plasma of all animals. - The
name originates from the Greek chole- (bile) and stereos (solid), and the chemical suffix -ol for
alcohol. Source: U.S. National Library of Medicine

77. Question: ¥ TR TYe §a FIRF FT1 2~

A) Mo FI @EF I

B) Nfox ool Jiad ey
C) Mfbd ©F ¥ F(ad ol
D) MGa el I Tl

Answer: C) N16A (519 a1 Jfad ely

Explanation: STt MHa pH AIGT® 5 A3 FFESTIN, ASTERTIN Tofed FEEL 1976 27|
2T pH IICTETT T2 37 NoF TFS] TN FAT| TS INIF I 7, AFTT-T19 (A, T ST
3 FIST S|

78. Question: (FF AP B (Light spectrum) I (1 (MATS AT3IT J1I?

A) So (N 8oo (AN (nm)

B) s fi(m) - a7 S&@

C) Soo NRIFINGIA (um) (I S fH(m)
D) 800 (@ 900 (AN (nm)

Answer: D) 800 (@ 900 (¥ (nm)
Explanation: I 205 {53 (1T ©F571 ST HF@H ST ST (TS TR AT| (T SEH S5 s

8oo MTAINGIF (A J00 TG XS (TR ST AT (W@ MR | (=G ©57 (M 7 I (@S
T 3@ NF | S5 (0l TG FE R AAITOF 20 AEF | AR AR = THAT A

79. Question: TP TSz (WATF FIA -



A) TGS Sely
B) SN Se1y
C) gfe%eEd &y
D) 7 IISTBAT ASHeAET Hely

Answer: D) ¢ el sfe%e@a o

Explanation: A diamond sparkles(33< $() as when the rays of light enter the diamond they
suffer total internal reflection (Tf Tl afe®we) at its various faces.

80. Question: JTHF (MR NINTFTSF (F RSN AP~

A) XC (ITGT
B) 8 (&1GT
C) o0 (31T
D) ve (SIS

Answer: D) 9 (31T

Explanation: - E<ME (FICOTEE AT 2ET 2@ (SGT| - 97 JOET S (SST (T (FTEETR J7% 33
(STST AGICTH | TS FIH-7 (91T ST T2 @16 32|

81. Question: AR, FEFW 9T TS fox A 9FC F1& Fa0© TG IVEE 15, 6 972 10 G| ©REAT
9T fod O FB6 Fo & CT¥ FI© TNAE?

A) 15 fae
B) 18 faa
C)7 fua
D) 3 fus

Answer: B) 18 fuq
Explanation: 2, I a3 ST 1 fod F19 F90@ TE TNFA 1/15, 1/6 932 1/10 I T, 3

S 9F@ S T FE (1/15 + 1/6 + 1/10) 3= = (2 + 5 +3)/30 = 10/30 = 1/3 I 93, 1/3 IR FE 1
O @R, 191 I ¥+ F1& Fa© TEE (1 x 3)/1E| = 3 e

82. Question: (FIET AT 40% 97 T 42 (J1ST FAE HA%T 7T P AT T Fo?



C) 90
D) 70

Answer: B) 80

Explanation: &3 sRamfG x T, x x 40% + 42 = x = 40x/100 - x = - 42 = x - 2x/5 = 42 = (5x
-2x)=210=3x=210..x=70

83. Question: (F1F SATF 60% (VF 60 fAFTST FAC Hel%el 2 60| BEF AT 20?

A) 250

B) 100

C) 300

D) 200

Answer: B) 100

Explanation: &f3 5i22mf6 x TH3108, x x 60% - 60 = 60 6x/10 = 120 x = 200

84. Question: 236 I FTT IYTHF 4cm 932 6cm T ©F FTIT (FaHT FO7?
A)6

B) 8

C) 24

D) 12

Answer: D) 12

Explanation: IR (Fa%e =(1/2) x G 0 39% = (1/2) x 4 x 6 = 12 NI,

85. Question: 3x-7y+10=0 A} y - 2x - 3=0 25 IH -

A)x=1y=-1
B)x=1,y=1

C)x=-1,y=-1
D)x=-1,y=1

Answer: A)x=1,y=-1

Explanation: 3x - 7y = -10........... (M)-2x+y=3................. (2) (1)a8R + (2)a: x 7= 3x - 7y - 14x
+7y=-10+ 21 -11x = 11 = x = -1 234, 1) TNFIE x 97 N AT MR, -2(-1) +y =3 = 2+y =



3=y=1

86. Question: I a+b =2, ab =137 5 a 932 b a7 A INTFM-

Answer: D) 1, 1

Explanation: 3Tk, a+b=2ab=1b=2-a......... (1)axgab=1=a(2-a)=1=2a-
a?=1=>1-2a+a’=0=>a*-2a+1=0=>a*>2a1+12=0=>(a-12*=0=>(a-1)(@-1)=0
=a=1(1)NRA@F b=2-1=Db=1%odR, a=1, b=1.

87. Question: TG AT (F5THeT 48 9T B S%eT 432| ©F TG AT F0?

A) 40
B) 37
C) 38
D) 36

Answer: C) 38

Explanation: &f3, A 7f6 x 8 y S 6@, x+y = 48 3T TENw®, xy = 432 AT I, (x-y)2 = (x
+y)2-4xy = (X-y)?=(48)*-4 x 432 = (x-y)*=2304 - 1728 = (x -y)*=576 .". X -y = 24 93,
(Xx+y)+(x-y)=48+24=>2x=72.". x=36AQF, x-y=24=>36-y=24.". y=123l9ﬁ%,3'_6
TG 36

88. Question: 0, 1,2 932 3 TR I9® &1F SFF J2oN 432 Fuod KA [FRIH-

A) 3147
B) 2287
C) 2987
D) 2187

Answer: B) 2287

Explanation: o, &, 3, @ TTAT 5118 J2GH ST = ©3bo (T (WF (VGO (I© ) I3 FUoH 547 =
$039 | Ok, fRIEBHT = (V30 - $03V) =389



89. Question: 12422+3%+.....+x% - 9T Jq $©7?
A) x(x+1)/2

B) x

C) {x(x+1)/2}

D) x(x+1)(2x+1)/6

Answer: D) x(x+1)(2x+1)/6

Explanation: 12+22+32+.... . +x2 =x(x + 1)(2x + 1)/6

90. Question: IW 642/3+ 6251/2 = 3k ¥ O  kag IH-

A) 12(%)
B) 9(34)

C) 11(14)
D) 13(%)

Answer: B) 9(%)

Explanation: 642/3+ 6251/2 = 3k => (43)2/3+ (252)1/2 = 3k => 42+ 25 = 3k => 16 + 25 = 3k =>
41=3k =>k =41/3 .. k = 13(2)

91. Question: (FHMG JTIEEF (RH?

A) 2/11

B) 3/11

C) 4/15

D) 2/13

Answer: B) 3/11

Explanation: 2/11 = 0.18 3/11 = 0.27 2/13 = 0.15 4/15 = 0.27 S3I®E (=G = 2/13

92. Question: I Q/P = 1/4 27 ©F (P+Q)/(P-Q) a7 NTo-

A) 5/7
B) 2/3
C)3/5
D) 5/3



Answer: B) 2/3

Explanation: Q/P = 1/4 = P/Q = 4/1 [TIFIIFE] = (P + Q)/(P-Q)= (4 +1)/(4-1) [
FARBH- B FE] = 5/3

93. Question: log2(1/32) a7 N+-

A) 125

B)-15

C)15

D)-5

Answer: The correct answer is: C) 15

Explanation: log2(1/32) = log22-5 = -5l0g22 =-5.1=-5

94. Question: (4x2-16) 933 6x2+24x+24 a7 SIB-

A)x+2

B)x+4

C)yx+2

D) 2(x + 2)

Answer: B) x + 4

Explanation: S F1T = 4x2 - 16 = 4(x? - 4) = 4(x? - 22) = 2.2(x + 2)(x - 2) YT AT = 6x2 + 24x +
24 =6(x2+4x +4) = 6(x2 + 2.x.2 + 22) = 2.3(x + 2)2 .". fHCAT SIS, = 2(x + 2)
95. Question: x3-x2 (¥ x-2 JIFT O FHT AICTH YTF -

A)2

B) -8

C)-6

D)4

Answer: B) -8

Explanation: x = 2 3@ "M2- (2)3-(2)2=8-4=4



96. Question: I a2+1/a2=51 3T 6 a - 1/a 97 NF F&?

A) £9
B) 3
C) 5
D) £7

Answer: B) 3

Explanation: (M3AT AR, a2 + 1/a2=51 = (a-1/a)2 +2.a.1/a=51= (a-1/a)2+2=51 = (a-
1/a)2=49 .". a-1/a=+7

97. Question: f(x) = x3-2x + 10 3 f(0) = $©?

A)1

B)5

C)8

D) 10

Answer: D) 10

Explanation: (M331 A, f(x) = x3-2x +10 f(0) = 0° - 2x0 +10 = 10

98. Question: (x -4)2 + (y + 3)2= 100 B (F4IT FARF F©7

A) (0,0)
B) (10,10)
C) (-4,3)
D) (4.-3)

Answer: A) (0,0)

Explanation: SISET Sfe, J&F TP, (X - 9)2 + (y - )2 = 12 (FAA (g, f) JEF FAIT IARF| 55
O THFIT (X - 4)2 + {y - (- 3)}2=102 (F4IT FTRF (4,- 3)

99. Question: 136 GG AT TRSET 7 IAFE 20m, 21 M 932 29 m T IF (Fame
F6?

A) 200m2

B) 300m2
C) 290m2



D) 210m2

Answer: B) 300m2

Explanation: 33T, a = 20, b = 21, ¢ = 29, 9% AfF s = (@ + b + ¢)/2 = (20 + 21 + 29)/2 = 35
. (Fa%e = V{35(35 - 20)(35 - 21)(35 - 29)} = V(35 x 15 x 14 x 6) = 210 I

100. Question: ) I 46 AT (T 9T 3% TNHET 20 972 96 2T, ©F W27 2od
TIRTOF (5% Fo E?

A) 1/8

B) 1/6

C) 3/4

D) 5/24

Answer: B) 1/6

Explanation: &fF, a7 326 a 8 b 1$3(® a + b = 20 ab=96 224, (1/a) + (1/b) = (b + a)/ab =
20/96 = 5/24



